The Association of Corporate Treasurers CPD Entry Test

Business and Financial Risk Analysis

Worked solutions

Question 1

You have a currency receivable of US$1 million due in 3 months.  You have no doubt that the money will arrive on the due date.  Due to your investment programme, in euro, you would like to gain access to the cash now.  In order to achieve this you propose to borrow US$ 1 million now on overdraft, convert to euro (€) and make the capital investment.

Which of the following statements best reflects this situation?

(a) You retain an opportunity risk on the exchange rate and no interest rate risk

(b) You retain an interest rate risk but no exchange risk

(c) You have no risk at all, as long as the payment arrives on time

(d) You retain an opportunity risk on the exchange rate and an interest rate risk

(e) 

Don’t know

Answer 

The right answer is (d)  You retain an opportunity risk on the exchange rate and an interest rate risk.

If you were to wait, the exchange rate may change and therefore the number of euros (€) received for the US$1 million would change.  This is an opportunity risk.  Having borrowed on overdraft the interest rate is not fixed and so your cost of borrowing could well rise within the three month period, before the debt is repaid.  This is an interest rate risk.
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Question 2

A car rental company advertises that its cars are always less than 3 months old.  Its financial structure is 30% debt.  

Which of the following is closest to your recommendation for the debt structure ?

(a) To match maturity of assets, maturity of debt should be 3 months at floating rate

(b) To match maturity of assets, maturity of debt should be 3 months at fixed rate

(c) Maturity of assets isn’t important, the debt should be medium term and the fixed v floating decision should match the business sensitivity to interest rates 

(d) Maturity of assets isn’t important, the debt should be medium term and the fixed v floating decision should be based on the view of interest rates

(e) Don’t know

Answer 

The right answer is (c)  Maturity of assets isn’t important, the debt should be medium term and the fixed v floating decision should match the business sensitivity to interest rates.

In this context the maturity of the assets ( i.e. the cars themselves) is not particularly important.  There is an ongoing need to be financing the fleet even if the cars are rotated.  The maturity matching argument is fine for steel mills where the asset generates the repayment for the loan.  Here the key assets are more likely to be the infrastructure and the brand name that generates the cash flow through renting the cars.

In any event, such short term funding would represent a severe refinancing risk.  A slight hiccup in performance and the funds may dry up, in the same way as funds raised exclusively through the CP market – here funds are low cost but there is no commitment to further funding at the same cost.  Security of supply does have a price – and a value.

For 3-month funding as in (a) and (b) the difference between fixed and floating seems rather esoteric.  In practice only an overdraft is likely to reprice more frequently than every three months anyway.

Answer (c) recommends medium term funding and that the fixed / floating decision should be on the basis of the businesses sensitivity to interest rates.  This is the only way to minimise interest rate risk.  If the business delivers good performance when interest rates are high and poorer performance when interest rates are low, this would argue for floating rate.  The extreme case would be a business where interest rate highs would be accompanied by very poor performance.  Here the interest payments would be high when the business’s performance is at its lowest.

Answer (d) is like placing a bet.  The treasurer is entitled to a view, but if he intends implementing that view with a medium term instrument he should have a good argument that he knows more than the market.  If there is a general view of a rate change then this will be reflected in market prices.  The key is that this decision is not just an opportunity for a gamble and, possibly, an opportunistic gain.
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Question 3

You are one of three major global manufacturers of very high cost industrial components with expected lives of at least ten years.  All of your customers are major commercial enterprises with substantial resources.  You are based in the UK, as is all of your manufacturing, while the other two manufacturers are based in the US.  Each manufacturer is committed to ensuring that spare parts are available for all of their components still in use.

Initial sales are negotiated by expert teams on both sides, determining the best deals in terms of export finance and the commercial realities. 

Which of the following best describes this situation?

(a) You negotiate the best deal given current exchange rates knowing that you can always make up a profit shortfall by increasing prices on your spares.

(b) You negotiate the best deal in currency but always price spares in sterling

(c) You negotiate the best deal to ensure a profit, and keep currency price list increases to that currency’s domestic inflation

(d) Spares prices are ignored when negotiating the initial sale

(e) Don’t know

Answer 

The right answer is (c)  You negotiate the best deal to ensure a profit, and keep currency price list increases to that currency’s domestic inflation.

Major purchases are always costed over the entire life cycle.  Therefore, with expert teams on both sides it is inconceivable that spares prices are ignored.  Pricing to make all profit on spares would be picked up at this stage, there are price lists in existence already.  Pricing spares in sterling would be transferring the currency risk to the buyer – on some occasions spares would look cheap in another currency, on others they would look expensive.  If the company can afford to make the initial sale only when current rates make spares look cheap this may be OK, but this is unlikely.

The only real alternative is to stick to domestic inflation.
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Question 4

You are under pressure to produce a better than expected investment performance this year.  Knowing this an investment banker has approached you in an attempt to help.

She offers you a leveraged investment product which is guaranteed to deliver exceptional returns as long as the FTSE index remains above 5400.  You know that the index has been above this level for some time and that all of the expectation is that it will rise further.

Which of the following courses of action would you follow?

(a) Ignore the product

(b) Invest in the product

(c) Put the proposal forward to your Group Treasurer

(d) Seek further information

(e)
Don’t know

Answer

The right answer is (a)  Ignore the product

This may sound a little extreme, especially when there is pressure to generate returns.  However, the level of the FTSE index is not your expertise.  If it is, then you should be using it to earn your living!  Most treasurers would not consider such products which have linkages to an index which is unrelated to their business.  An oil company might be interested if the link was to the oil price for instance.  This looks far too much like speculation.

Conceivably, investing in the instrument and buying a put at 5400 could generate a return?!
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Question 5

You are concerned about whether your next term loan should be at a fixed rate or floating rate.  You have come to the conclusion that your business is no more or less sensitive to interest rate changes than the majority of other businesses.  You are therefore considering whether you can use the economic information available in order to make your own forecast and attempt to make a gain from raising fixed if you think rates will rise and floating if you think rates will fall.

Which of the following information would you put most emphasis on?

(a) Money supply growth

(b) Retail credit granted

(c) Unemployment levels

(d) Avoid attempting to forecast

(e) Don’t know

Answer 

The right answer is (d)  Avoid attempting to forecast

The situation described is very common.  Unfortunately, many treasurers know to their cost (and many forecasters) that this is a difficult business.  (but only when applied to the future)  Professional forecasters get this wrong frequently.  What chance does an amateur have?  This is attempting to make an opportunistic gain from the financial markets; nothing to do with the firm’s business.  Avoid the temptation.  The fixed / floating decision should be made on the relative rates, the company’s overall sensitivity to interest rates and its ability to absorb higher interest costs if they occur.
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Question 6 

As treasurer of a domestic UK Group you have recently established a sales branch in the US.  All  manufacturing remains in the UK.  The Board has now decided to gear up the Group to take maximum advantage of the tax shield on debt.  The revenues from the US sales will be used to service this debt.  You have agreed to a debt: equity covenant on the Consolidated Balance Sheet only just higher than the level after drawdown of the new debt.

You are considering whether this new debt should be fixed or floating rate, sterling or US dollars.  You have also been offered Yen debt at a much lower interest rate.

Considering the Consolidated Balance Sheet only, which of the following statements is most applicable?

(a) Floating rate debt in sterling is low risk

(b) Fixed rate debt in US dollars is low risk

(c) Floating rate sterling debt swapped to fixed US dollar is low risk

(d) Floating rate Yen debt swapped to floating US dollar debt is low risk

(e) Don’t know.

Answer

The right answer is (a) floating rate debt in sterling is low risk

Any non sterling debt will put a risk on gearing.  This business is severely constrained by its gearing covenant, therefore it has no option but to borrow sterling.  This apart $ debt might have provided a better match against $ revenues.

From the perspective of the Consolidated Balance Sheet the US operations are a branch and not a subsidiary.  Therefore the incorporation of any non-sterling liability will represent a risk to the sterling balance sheet.  If the US operations were a subsidiary then the movement in the value of the asset would have offset the movement in the value of the liability.  This is not the case though.

For any structure involving a swap, the current value of the swap will be required to be shown.
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Question 7

You are responsible for a large, active treasury within a major UK group.  Your dealers have purchased a significant amount of zero-coupon bonds with a maturity of 3 years.  This position is offset by the issue of the same market value of 3 year fixed rate bonds issued at par.

Which of the following statements best describes this situation?

(a) The position is naturally hedged

(b) You are exposed to a loss in value if interest rates rise

(c) You are exposed to a loss in value if interest rates fall

(d) There is insufficient information to draw any conclusion

(e) Don’t know.

Answer

The right answer is (b) You are exposed to a loss in value if interest rates rise.

Zero coupon bonds have more volatile values than equivalent maturity coupon bonds.  As rates rise the value of both instruments will fall, but the zero coupon bond will fall further i.e. a net loss, as the zero-coupon bond is an asset.  This is a reflection of the fact that the duration of a zero coupon instrument is longer than that of an interest bearing instrument of the same maturity.
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Question 8 


You are concerned to implement a rolling hedging programme of forward contracts to manage your foreign currency receivables.  You have decided to hedge 20% of the expected revenues for one year ahead, 15% for two years ahead and 10% for years three to five ahead.  You have realised that these contracts are not immediately available in the foreign exchange market, but that they are available on a bespoke basis.

Which one of the following best describes the features that you should seek in the counterparty to the forward contracts?

(a) Must be willing to adjust the hedges in the light of sales revisions

(b) Must have a good quality account officer

(c) Must have a good credit rating

(d) Must have excellent cash management systems

(e) Don’t know

Answer 

The right answer is (c)  Must have a good credit rating.

The issue here is one of time scale.  The hedge is only of use if it can be delivered at a time, up to 5 years in the future, when exchange rates may be very different.  You must be sure that the counterparty will be there and will deliver.  Long term risk is not the same as a three month forward contract.

All of the other answers may be of interest, but none compares in terms of importance.
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Question 9


You are head of the newly-established treasury department.  Your company has just been spun off from a major UK group, Friendly Bombs PLC.  Until recently all treasury activities have been undertaken by the Group Head Office in Slough.  You have been charged with establishing banking relationships.  While the major financing decisions have all been taken, the issues of dealing and short-term investment have been left until now.

You have narrowed the choice to a shortlist, but you are concerned regarding their creditworthiness.  One possibility is an unrated, wholly-owned subsidiary of a regional UK bank which offers good deposit rates.  One is an unrated regional UK bank which is owned by a mutual society.  Others are overseas entities based in offshore financial centres.

How would you approach the decision on which banks to deal with?

(a) Develop a policy, agreed at board level, which provides appropriate guidance

(b) Undertake a credit analysis of each entity with which you are considering dealing

(c) Meet the executive management of each entity and seek appropriate guarantees

(d) Approach a commercial insurer to underwrite any risk of loss

(e)
Don’t know

Answer 

The right answer is  (a)  Develop a policy, agreed at board level, which provides   appropriate guidance.

Most treasurers in this situation would be unable to undertake a credit analysis of a bank in any depth which might be acceptable.  Conceivably a mixture of answers (b) and (c) might be adequate, if accompanied by a major rating agency team.  At the time of writing, commercial insurance is unavailable for covering such risks.

The advantage of the set policy is that it allows the treasurer to operate with confidence within specific, known limits.  The policy should be applied in every case – no exceptions.
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Question 10


You are responsible for arranging the funding for a small UK business intending to float in two years.  In fact you have been appointed as part of the run-up to flotation.

The business is primarily domestic, with all assets being sterling, although there is a small volume of export and import, mainly to and from mainland Europe.  In total, non-sterling trade accounts for less than 10% of the total.

Which of the following forms of finance would you choose?

(a) 2 year bank loan in euro at 4.5% with single repayment at term

(b) 5 year loan in euro at 5.0% with single repayment at term

(c) 5 year bank loan in sterling at 6.5% with repayment starting year 3

(d) 2 year bank loan in sterling at 6.1% with single repayment at term

(e) Don’t know

Answer 

The right answer is  (c)  5 year bank loan in sterling at 6.5% with repayment starting year 3

The last thing you should want is to be forced to refinance all of your debt immediately before the float in two years time.  This would eliminate alternatives (a) and (d).  The question is then whether sterling or euro is appropriate.  Given the majority of the business is in sterling, the answer should be sterling. The final deciding factor is that only (c) gives the alternative of moving away from all of the debt becoming due at the same time.  In practice, most treasurers would try to create a flat repayment profile, i.e. no peaks in particular years.
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